/

(Today |

7 M e_d‘t(um O.(Cels

\/\\‘do\cv\ )LCrVY\(Y\a,QﬁS

L Lrgeag
Rak lea?\ﬁ\*f)"\ ond P(MS.



—

@ED\UM N e €53

@i U[ @

/(?é Broadeadt medium

aM e C,o? <hen.

Moo do w2 madisle access 4o
Such o
Yed 1o ?.

—



(NLOHR | Romdom  carese protocal

AR AREN
Da\\\;\\& E& P ?{WA—
X
N
Senddde L b p
ook (VP







[UNSLoTTED VS SLoTTED |
ron Pe b S_Qﬁ}ﬁ
T
k&dv\cﬁﬁhy\\b\n)
\)gm\ ) \/l/
- Y _ -
L - —
HO\V\SW\ ?
\/@/
} BLY

/



trwr.\ v FDMA |

Lo

AJ\NS\ a

TfDMh )) A\\VLAa.QCUD

O\ L C\ \W

\

Vser Cons .
i

— %JLL«) u s éaﬁﬁpa“/‘“’

A

X
(5D

~———

—> e

— ngmic‘ﬂa()\‘w\_
?Wp — V”“l divigom adiw oo



G
Ca“f“f\(q S,Q'V'\S@, ML&\'\PQ- QCCCLA/S
\\/\g&,\u\ﬂ




\FopEN TERMIVALS |

D
A )




ACYAIS \

NMoTIVATION
mudh
rzﬁﬁ. C,OQQ N
\ e
%\% PQ&Q sam
Y’Pa
e N






| ®P| S

<AL @ Py | Py |

2 P, | PVAED P, |
RO O NN
(b)Fllpped Order

ALY Py 439 Py

(c) Different Packet Sizes
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